Maths – Friday 22nd January 2021
Write the numbers from 17-34
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	



Write the numbers from 46-29
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	




If I am counting from 25-46, will I say:
· 48?
· 31?
· 23?
· 40?

If I am counting from 43-27, will I say:
· 36?
· 18?
· 45?
· 29?


How many are there here?
[image: ]       [image: ]
Complete these part-whole models:
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Write the number that has:
· Three tens and five ones =
· One ten and seven ones =
· Four tens and six ones =
· [bookmark: _GoBack]Three ones and two tens =
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Can you count from __to ___ without a number track?

These images both show the same number of counters.
Which counters are easier to count? Why?
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